

NOTES ON THE N-TH POWER OF GENERALIZED (S,T)-PELL AND
(S,T)-PELL LUCAS MATRIX SEQUENCES

SUKRAN UYGUN

ABSTRACT. In this study, we define two matrix sequences special 2×2 matrices are defined with elements that are generalizations of Pell and Pell-Lucas sequences. Some formulas for the n th powers of these special matrix sequences are established by determinant and trace of these matrices. By these formulas, some properties for these generalized number sequences are demonstrated. The results are also usable for the classic Pell and Pell Lucas numbers, if we substitute $s = t = 1$.

1. INTRODUCTION

The goal of this article is to find the n th power of the (s, t) -Pell and the (s, t) -Pell Lucas matrix sequences. Useful properties of the number sequences with elements that are obtained the elements of the generalized matrix sequences are established by the results found. In the literature, the researchers intended to find the n th power of the matrices by different methods. For example, in [1], Williams investigated the n th power of a 2×2 matrix using a simple method. Laughlin studied some properties obtained by the n th power of some matrices in [2, 3]. Belbachir investigated linear sequences and powers of any square matrices in [4]. In [5], the authors investigated sum formulas and products for recurrent sequences. The authors derived combinatorial identities by using the trace, the determinant, and the n th power of a special matrix whose entries are Horadam numbers in [10]. Among special integer sequences, the Pell and Pell Lucas numbers have been studied extensively in the last decade years. The Pell numbers $\{p_n\}_{n=0}^{\infty}$ are given by $p_n = 2p_{n-1} + p_{n-2}$ for $n \geq 2$, beginning with the values $p_0 = 0$, $p_1 = 1$. The first elements of the sequences are 1, 2, 5, 12, 29, 70... respectively. The Pell Lucas numbers $\{q_n\}_{n=0}^{\infty}$ are defined by $q_n = 2q_{n-1} + q_{n-2}$ for $n \geq 2$, with the initial conditions $q_0 = 2$, $q_1 = 2$ in [6]. In [12], the author investigate the generalized (r, s) sequence in detail.

Definition 1. Let s, t are real numbers. The (s, t) -Pell and the (s, t) -Pell Lucas sequence are demonstrated by the following second order relations

$$\begin{aligned} p_n(s, t) &= 2sp_{n-1}(s, t) + tp_{n-2}(s, t), & (p_0(s, t) = 0, p_1(s, t) = 1) \\ q_n(s, t) &= 2sq_{n-1}(s, t) + tq_{n-2}(s, t), & (q_0(s, t) = 2, q_1(s, t) = 2s) \end{aligned} \quad (1)$$

where $s > 0$, $t \neq 0$ and $s^2 + t > 0$ [8, 11].

Binet formula enables us to find any element of the number and matrix sequences easily. It can be clearly obtained from the roots r_1 and r_2 of the characteristic equation as the form $x^2 = 2sx + t$, where

$$r_1 = s + \sqrt{s^2 + t}, \quad r_2 = s - \sqrt{s^2 + t}. \quad (2)$$

2010 Mathematics Subject Classification. 15B36, 11B39, 11C20, 11B37.

Key words and phrases. Generalized special sequence with two variables, Determinant, Trace.

The Binet formula for the (s, t) - Pell numbers is

$$p_n(s, t) = \frac{r_1^n - r_2^n}{r_1 - r_2} \quad (3)$$

and the Binet formula for the (s, t) - Pell Lucas numbers is given by

$$q_n(s, t) = r_1^n + r_2^n. \quad (4)$$

Definition 2. In [8, 11], Let $n \geq 1$, the matrix sequence with (s, t) - Pell numbers is denoted by the following recurrent relation

$$P_n(s, t) = 2sP_{n-1}(s, t) + tP_{n-2}(s, t) \quad (5)$$

with the initial conditions $P_0(s, t) = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}$, $P_1(s, t) = \begin{pmatrix} 2s & 1 \\ t & 0 \end{pmatrix}$, and the matrix sequence with (s, t) -Pell Lucas numbers is similarly given as

$$Q_n(s, t) = 2sQ_{n-1}(s, t) + tQ_{n-2}(s, t) \quad (6)$$

with the initial conditions $Q_0(s, t) = \begin{pmatrix} 2s & 2 \\ 2t & -2s \end{pmatrix}$ and $Q_1(s, t) = \begin{pmatrix} 4s^2 + 2t & 2s \\ 2st & 2t \end{pmatrix}$.

Proposition 1. Some important properties for the (s, t) -Pell and the (s, t) -Pell Lucas matrix sequences are given as in [8, 11]

- a) $P_n(s, t) = \begin{pmatrix} p_{n+1}(s, t) & p_n(s, t) \\ tp_n(s, t) & tp_{n-1}(s, t) \end{pmatrix} \dots$
- b) $Q_n(s, t) = \begin{pmatrix} q_{n+1}(s, t) & q_n(s, t) \\ tq_n(s, t) & tq_{n-1}(s, t) \end{pmatrix}$
- c) $P_{m+n}(s, t) = P_m(s, t)P_n(s, t)$
- d) $P_n(s, t) = P_1^n(s, t)$
- e) $Q_{n+1}(s, t) = Q_1(s, t)P_n(s, t)$
- f) $Q_n(s, t) = 2sP_n(s, t) + 2tP_{n-1}(s, t)$

In [1], Williams, gave a well-known formula that if $A = \begin{bmatrix} a & b \\ c & d \end{bmatrix}$, then

$$A^n = \begin{cases} \frac{r_1^n - r_2^n}{r_1 - r_2} A - \frac{r_1^{n-1} - r_2^{n-1}}{r_1 - r_2} I_2, & r_1 \neq r_2 \\ nr^{n-1} A - (n-1) \det(A) r^{n-2} I_2, & r_1 = r_2 \end{cases} \quad (7)$$

r_1, r_2 being the roots of the equation

$$r^2 - (a + d)r + \det(A) = 0.$$

Corollary 1. The n th power of P_1 and Q_1 are

$$P_1^n(s, t) = \frac{r_1^n - r_2^n}{r_1 - r_2} \begin{pmatrix} 2s & 1 \\ t & 0 \end{pmatrix} - \frac{r_1^{n-1} - r_2^{n-1}}{r_1 - r_2} I_2 \quad (8)$$

where $r_1 = s + \sqrt{s^2 + t}$, $r_2 = s - \sqrt{s^2 + t}$

$$Q_1^n(s, t) = \frac{s_1^n - s_2^n}{s_1 - s_2} \begin{pmatrix} 4s^2 + 2t & 2s \\ 2st & 2t \end{pmatrix} - \frac{s_1^{n-1} - s_2^{n-1}}{s_1 - s_2} I_2 \quad (9)$$

where $s_1 = 2(s^2 + t + s\sqrt{s^2 + t})$, $s_2 = 2(s^2 + t - s\sqrt{s^2 + t})$. If we choose $s = t = 1$, we get the n th power of the matrix sequences with classic Pell and Pell Lucas numbers

$$\begin{pmatrix} 2 & 1 \\ 1 & 0 \end{pmatrix}^n = \frac{(1 + \sqrt{2})^n - (1 - \sqrt{2})^n}{2\sqrt{2}} \begin{pmatrix} 2 & 1 \\ 1 & 0 \end{pmatrix} - \frac{(1 + \sqrt{2})^{n-1} - (1 - \sqrt{2})^{n-1}}{2\sqrt{2}} I_2$$

$$\begin{pmatrix} 6 & 2 \\ 2 & 2 \end{pmatrix}^n = \frac{(4 + 2\sqrt{2})^n - (4 - 2\sqrt{2})^n}{4\sqrt{2}} \begin{pmatrix} 6 & 2 \\ 2 & 2 \end{pmatrix} - \frac{(4 + 2\sqrt{2})^{n-1} - (4 - 2\sqrt{2})^{n-1}}{4\sqrt{2}} I_2$$

Proof. The proof is obtained by the eigenvalues of $P_1(s, t)$ and $Q_1(s, t)$ and (5), (6), (7). \square

Corollary 2. *The determinant of $P_1^n(s, t)$ and $Q_1^n(s, t)$ are*

$$\begin{aligned} \det(P_1^n(s, t)) &= t^n \\ \det(Q_1^n(s, t)) &= (4t)^n(s^2 + t)^n \end{aligned}$$

Proof. By the well-known property of the determinant of a matrix, we know that the determinant is the product of eigenvalues of the matrix. we get the determinant of $P_1(s, t)$ and $Q_1(s, t)$ as t and $4t(s^2 + t)$ respectively. Because the determinant of the n th power of a matrix is the n th power of the product of the eigenvalues of the matrix. If we choose $s = t = 1$, we get the well-known Pell and Pell Lucas matrix sequences and the determinants of them are obtained as $\det(P_1^n) = 1$, and $\det(Q_1^n) = 8^n$. \square

Corollary 3. *The determinants of $P_1^n(s, t)$ and $Q_1^n(s, t)$ are*

$$\begin{aligned} \det(P_n(s, t)) &= t^n, \\ \det(Q_n(s, t)) &= (4t)^n(s^2 + t)^n. \end{aligned}$$

Proof. By the property $P_n(s, t) = P_1^n(s, t)$ the first equality is easily seen. By the equality $Q_{n+1}(s, t) = Q_1(s, t) P_n(s, t)$, we get

$$\det(Q_n(s, t)) = \det(Q_1(s, t) P_{n-1}(s, t)) = 4t(s^2 + t)t^{n-1}.$$

If we choose $s = t = 1$, we get the classic Pell and Pell Lucas matrix sequences and the determinant of them are obtained as $\det(P_n) = 1$, and $\det(Q_n) = 8$.

Laughlin, in [3] gave if A is a 2×2 matrix as $A = \begin{pmatrix} a & b \\ c & d \end{pmatrix}$ then the n th power of A is given by

$$A^n = \begin{pmatrix} x_n - dx_{n-1} & bx_{n-1} \\ cx_{n-1} & x_n - ax_{n-1} \end{pmatrix} \tag{10}$$

where $x_n = \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-i}{i} T^{n-2i}(-D)^i$, T =trace of A , D =determinant of A . \square

Corollary 4. *The n th power of P_1 and Q_1 are*

$$P_1^n(s, t) = \begin{pmatrix} x_n & x_{n-1} \\ tx_{n-1} & x_n - 2sx_{n-1} \end{pmatrix}, \tag{11}$$

where $x_n = \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-i}{i} (2s)^{n-2i}(-t)^i$, and

$$Q_1^n(s, t) = \begin{pmatrix} y_n - 2ty_{n-1} & 2sy_{n-1} \\ 2sty_{n-1} & y_n - (4s^2 + 2t)y_{n-1} \end{pmatrix} \tag{12}$$

where $y_n = \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-i}{i} (4s^2 + 4t)^{n-i}(4t)^i(s^2 + t)^i$.

If we substitute for $s = t = 1$ in (11), (12), we get the n th power of classic the Pell and Pell Lucas matrix sequences as follows

$$\begin{pmatrix} 2 & 1 \\ 1 & 0 \end{pmatrix}^n = \begin{pmatrix} x_n & x_{n-1} \\ x_{n-1} & x_n - 2x_{n-1} \end{pmatrix}$$

where $x_n = \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-i}{i} 2^{n-2i}$, and

$$\begin{pmatrix} 6 & 2 \\ 2 & 2 \end{pmatrix}^n = \begin{pmatrix} y_n - 2y_{n-1} & 2y_{n-1} \\ 2y_{n-1} & y_n - 6y_{n-1} \end{pmatrix}$$

where $y_n = \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-i}{i} 8^n$.

Proof. The proof is obtained by (5), (6), (10). \square

Corollary 5. The n th elements of the (s, t) -Pell and the (s, t) -Pell Lucas matrix sequence are found by Proposition 1(d,e,f), (6), (10), (11)

$$P_n(s, t) = \begin{pmatrix} x_n & x_{n-1} \\ tx_{n-1} & x_n - 2sx_{n-1} \end{pmatrix}$$

$$\begin{aligned} Q_n(s, t) &= Q_1(s, t)P_{n-1}(s, t) = \begin{pmatrix} 4s^2 + 2t & 2s \\ 2st & 2t \end{pmatrix} \begin{pmatrix} x_{n-1} & x_{n-2} \\ tx_{n-2} & x_{n-1} - 2sx_{n-2} \end{pmatrix} \\ &= \begin{pmatrix} (4s^2 + 2t)x_{n-1} + 2stx_{n-2} & 2(sx_{n-1} + tx_{n-2}) \\ 2t(sx_{n-1} + tx_{n-2}) & 2t(x_{n-1} - sx_{n-2}) \end{pmatrix} \end{aligned}$$

and

$$\begin{aligned} Q_n(s, t) &= 2sP_n(s, t) + 2tP_{n-1}(s, t) \\ &= 2s \begin{pmatrix} x_n & x_{n-1} \\ tx_{n-1} & x_n - 2sx_{n-1} \end{pmatrix} + 2t \begin{pmatrix} x_{n-1} & x_{n-2} \\ tx_{n-2} & x_{n-1} - 2sx_{n-2} \end{pmatrix} \\ &= \begin{pmatrix} 2sx_n + 2tx_{n-1} & 2(sx_{n-1} + tx_{n-2}) \\ 2t(sx_{n-1} + tx_{n-2}) & 2s(x_n - 2sx_{n-1}) + 2t(x_{n-1} - 2sx_{n-2}) \end{pmatrix} \end{aligned}$$

where $x_n = \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-i}{i} (2s)^{n-2i} (-t)^i$.

Theorem 1. For any integer $n \geq 1$, the following property is satisfied

$$\sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-i}{i} \frac{n}{n-i} (2s)^{n-2i} (-t)^i = \frac{1}{2^{n-1}} \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2i} s^{n-2i} (s^2 + t)^i. \quad (13)$$

Proof. The eigenvalues of P_1 are $r_1 = s + \sqrt{s^2 + t}$, $r_2 = s - \sqrt{s^2 + t}$. Therefore, the eigenvalues of $P_1^n(s, t)$ are r_1^n, r_2^n . Using (8, 11) it is obtained that $P_1^n(s, t) = \begin{pmatrix} x_n & x_{n-1} \\ tx_{n-1} & x_n - 2sx_{n-1} \end{pmatrix}$. The trace of $P_1^n(s, t)$ is $tr(P_1^n(s, t)) = 2x_n - 2sx_{n-1}$.

The sum of the eigenvalues is equal to the trace of the matrix, so $r_1^n + r_2^n = 2x_n - 2sx_{n-1}$.

$$\begin{aligned} 2x_n - 2sx_{n-1} &= 2 \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-i}{i} T^{n-2i} (-D)^i \\ &\quad - 2s \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n-1-i}{i} T^{n-1-2i} (-D)^i \\ &= \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-i}{i} (2s)^{n-2i} (-t)^i \binom{n}{n-i} \end{aligned}$$

By binomial expansion, we get

$$\begin{aligned} r_1^n + r_2^n &= \left(s + \sqrt{s^2 + t} \right)^n + \left(s - \sqrt{s^2 + t} \right)^n \\ &= \frac{1}{2^{n-1}} \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2i} s^{n-2i} (s^2 + t)^i. \end{aligned}$$

The proof is completed by the equality of the results. If we choose $s = t = 1$, we get the same result for the classic Pell and Pell Lucas matrix sequences as

$$\sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-i}{i} \frac{n}{n-i} 2^{n-2i} = \frac{1}{2^{n-1}} \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2i} 2^i.$$

By the Binet formula for the n th element of the (s, t) -Pell Lucas sequence (4), it is obtained that

$$\begin{aligned} q_n(s, t) &= \frac{1}{2^{n-1}} \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2i} s^{n-2i} (s^2 + t)^i, \\ q_n(s, t) &= \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n-i}{i} \frac{n}{n-i} (2s)^{n-2i} t^i. \end{aligned}$$

□

Corollary 6. *The n th element of the (s, t) -Pell matrix sequence is also demonstrated using the elements of the (s, t) -Pell sequence*

$$P_n(s, t) = p_n(s, t) P_1(s, t) - p_{n-1}(s, t) I_2 \tag{14}$$

$$\begin{aligned} P_n(s, t) &= \frac{1}{2^{n-1}} \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2i+1} s^{n-1-2i} (s^2 + t)^i P_1(s, t) \\ &\quad - \frac{1}{2^{n-2}} \sum_{i=0}^{\lfloor \frac{n-2}{2} \rfloor} \binom{n-1}{2i+1} s^{n-2-2i} (s^2 + t)^i I_2 \end{aligned}$$

Proof. By Proposition (1) and (7), it is obtained that

$$\begin{aligned} P_n(s, t) &= \begin{pmatrix} p_{n+1}(s, t) & p_n(s, t) \\ tp_n(s, t) & tp_{n-1}(s, t) \end{pmatrix} = P_1^n(s, t) \\ &= \frac{r_1^n - r_2^n}{r_1 - r_2} P_1(s, t) - \frac{r_1^{n-1} - r_2^{n-1}}{r_1 - r_2} I_2 \\ &= p_n(s, t) P_1(s, t) - p_{n-1}(s, t) I_2. \end{aligned}$$

If we choose $s = t = 1$, we get the same result for the classic Pell and Pell Lucas matrix sequences as $P_n = p_n \begin{pmatrix} 2 & 1 \\ 1 & 0 \end{pmatrix} - p_{n-1} I_2$.

By binomial expansion, it is derived that

$$\begin{aligned} \frac{r_1^n - r_2^n}{r_1 - r_2} &= \frac{1}{2\sqrt{s^2+t}} \left[(s + \sqrt{s^2+t})^n - (s - \sqrt{s^2+t})^n \right] \\ &= \frac{1}{2^{n-1}} \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2i+1} s^{n-2i-1} (s^2+t)^i. \end{aligned}$$

Then, we have

$$\begin{aligned} P_n(s, t) &= \frac{r_1^n - r_2^n}{r_1 - r_2} P_1(s, t) - \frac{r_1^{n-1} - r_2^{n-1}}{r_1 - r_2} I_2 \\ &= \frac{1}{2^{n-1}} \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2i+1} s^{n-1-2i} (s^2+t)^i P_1(s, t) \\ &\quad - \frac{1}{2^{n-2}} \sum_{i=0}^{\lfloor \frac{n-2}{2} \rfloor} \binom{n-1}{2i+1} s^{n-2-2i} (s^2+t)^i I_2. \end{aligned}$$

□

Lemma 1. [3] *Let A be an invertible 2×2 matrix with trace T and determinant D . Let g be a complex number such that $g^2 + Tg + D \neq 0$. It is easy to see this equality*

$$A = \frac{1}{g^2 + Tg + D} (A + gI)(gA + DI). \quad (15)$$

Assume that n be a positive integer and $g \neq 0$. Then

$$A^n = \left(\frac{gD}{g^2 + Tg + D} \right)^n \sum_{r=0}^{2n} \sum_{i=0}^r \binom{n}{i} \binom{n}{r-i} \left(\frac{D}{g^2} \right)^i \left(\frac{g}{D} \right)^r A^r. \quad (16)$$

Corollary 7. *By Lemma 1, for $\forall g \in \mathbb{R}$ or \mathbb{Z} ,*

$$\begin{aligned} P_1^n(s, t) &= \left(\frac{-tg}{g^2 + 2sg - t} \right)^n \sum_{r=0}^{2n} \sum_{i=0}^r \binom{n}{i} \binom{n}{r-i} \left(\frac{t^{i-r}}{g^{2i-r}} \right) P_1^r(s, t), \\ Q_1^n(s, t) &= \left(\frac{4t(s^2+t)g}{g^2 + 4(s^2+t)g + 4t(s^2+t)} \right)^n \\ &\quad \sum_{r=0}^{2n} \sum_{i=0}^r \binom{n}{i} \binom{n}{r-i} \left(\frac{4t(s^2+t)^{i-r}}{g^{2i-r}} \right) Q_1^r(s, t). \end{aligned}$$

Example 1. If we substitute for $s = t = 1$, we get the powers of the classic Pell and Pell Lucas matrix sequences. For example, if $n = 4$, it is obtained that

$$\begin{aligned} P_1^4 &= \begin{pmatrix} p_5 & p_4 \\ p_4 & p_3 \end{pmatrix} \\ &= \left(\frac{-g}{g^2 + 2g - 1} \right)^4 \sum_{r=0}^8 \sum_{i=0}^r \binom{4}{i} \binom{4}{r-i} (-1)^{i-r} g^{r-2i} \begin{pmatrix} 2 & 1 \\ 1 & 0 \end{pmatrix}^r \\ Q_1^4 &= \begin{pmatrix} c_5 & c_4 \\ c_4 & c_3 \end{pmatrix} \\ &= \left(\frac{8g}{g^2 + 8g + 8} \right)^n \sum_{r=0}^8 \sum_{i=0}^r \binom{4}{i} \binom{4}{r-i} \frac{8^{i-r}}{g^{2i-r}} \begin{pmatrix} 6 & 2 \\ 1 & 4 \end{pmatrix}^r. \end{aligned}$$

Theorem 2. For any integer $n \geq 1$, it is satisfied that

$$p_{nk+r} = \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} \binom{k-i}{i} \left[\begin{matrix} (q_n(s,t))^{k-2i} (-t)^{in} \\ \left[p_r(s,t) + \frac{k-2i}{k-i} \frac{(-2t)^r p_{n-r}(s,t)}{q_n(s,t)} \right] \end{matrix} \right].$$

Proof. By the property $p_{n+1}(s,t) + tp_{n-1}(s,t) = q_n(s,t)$ and the Binet formula for the (s,t) -Pell sequence, it is obtained that

$$(P_1^n)^k = P_1^{nk} = P_{nk} = \begin{pmatrix} p_{nk+1}(s,t) & p_{nk}(s,t) \\ tp_{nk}(s,t) & tp_{nk-1}(s,t) \end{pmatrix}$$

$$\begin{aligned} (P_1^n)^k &= (P_n)^k = \begin{pmatrix} p_{n+1}(s,t) & p_n(s,t) \\ tp_n(s,t) & tp_{n-1}(s,t) \end{pmatrix}^k \\ &= \begin{pmatrix} x_k - tp_{n-1}(s,t)x_{k-1} & p_n(s,t)x_{k-1} \\ tp_n(s,t)x_{k-1} & x_k - p_{n+1}(s,t)x_{k-1} \end{pmatrix} \end{aligned}$$

where

$$\begin{aligned} x_k &= \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} \binom{k-i}{i} T^{k-2i} (-D)^i \\ &= \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} \binom{k-i}{i} \left[\begin{matrix} (p_{n+1}(s,t) + tp_{n-1}(s,t))^{k-2i} \\ (tp_{n+1}(s,t)p_{n-1}(s,t) - p_n^2(s,t))^i \end{matrix} \right] \\ &= \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} \binom{k-i}{i} (q_n(s,t))^{k-2i} (-t)^{in}. \end{aligned}$$

By Proposition 1, 10 and [3]

$$P_1^n(s,t) = \begin{pmatrix} p_{n+1}(s,t) & p_n(s,t) \\ tp_n(s,t) & tp_{n-1}(s,t) \end{pmatrix}$$

and

$$P_1^{nk+r} = \begin{pmatrix} p_{nk+r+1}(s,t) & p_{nk+r}(s,t) \\ tp_{nk+r}(s,t) & tp_{nk+r-1}(s,t) \end{pmatrix}.$$

Then, we get

$$\begin{aligned} & P_1^{nk+r}(s, t) \\ &= \begin{pmatrix} p_{n+1}(s, t) & p_n(s, t) \\ tp_n(s, t) & tp_{n-1}(s, t) \end{pmatrix}^k \begin{pmatrix} p_{r+1}(s, t) & p_r(s, t) \\ tp_r(s, t) & tp_{r-1}(s, t) \end{pmatrix} \\ &= \begin{pmatrix} x_k - tp_{n-1}(s, t)x_{k-1} & p_n(s, t)x_{k-1} \\ tp_n(s, t)x_{k-1} & x_k - p_{n+1}(s, t)x_{k-1} \end{pmatrix} \cdot \begin{pmatrix} p_{r+1}(s, t) & p_r(s, t) \\ tp_r(s, t) & tp_{r-1}(s, t) \end{pmatrix}. \end{aligned}$$

By the equality of the matrices, it is verified that

$$\begin{aligned} p_{nk+r}(s, t) &= (x_k - tp_{n-1}(s, t)x_{k-1})p_r(s, t) + tp_n(s, t)x_{k-1}p_{r-1}(s, t) \\ &= p_r(s, t)x_k - t(p_{n-1}(s, t)p_r(s, t) - p_n(s, t)p_{r-1}(s, t))x_{k-1} \\ &= p_r(s, t)x_k + (-t)^r p_{n-r}(s, t)x_{k-1} \\ &= p_r(s, t) \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} \binom{k-i}{i} (q_n(s, t))^{k-2i} (-t)^{in} \\ &\quad + (-t)^r p_{n-r}(s, t) \sum_{i=0}^{\lfloor \frac{k-1}{2} \rfloor} \binom{k-1-i}{i} (q_n(s, t))^{k-1-2i} (-t)^{in} \\ &= \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} \binom{k-i}{i} \left[\begin{array}{c} (q_n(s, t))^{k-2i} (-t)^{in} \\ p_r(s, t) + \frac{k-2i}{k-i} \frac{(-2t)^r p_{n-r}(s, t)}{q_n(s, t)} \end{array} \right]. \end{aligned}$$

The desired result is completed. \square

Let $s = t = 1$, we get the property of the Pell sequence

$$p_{nk+r} = \sum_{i=0}^{\lfloor \frac{k}{2} \rfloor} \binom{k-i}{i} (q_n)^{k-2i} (-1)^{in} \left[p_r + \frac{k-2i}{k-i} \frac{(-1)^r p_{n-r}}{q_n} \right].$$

REFERENCES

- [1] Williams, K.S., *The nth power of a 2x2 matrix (in notes)*, Math. Magazine, 65(5), 1992.
- [2] Laughlin, J.Mc., *Combinatorial identities deriving from the nth power of a 2x2 matrix*, Integers Electronic J. of Combinatorial Number Theory, (4), 1-15, 2004.
- [3] Laughlin, J.Mc., Sury B., *Powers of matrix and combinatorial identities*, Electronic J. of Combinatorial Number Theory, A13(5), 1-9, 2005.
- [4] Bergum, G.E., Hoggatt, Jr.V.E., *Sums and products for recurring sequences* The Fibonacci Quarterly, 13(2), 115-120, 1975.
- [5] Belbachir, H., *Linear recurrent sequences and Powers of a square matrix*, Integers: Electronic J. of Combinatorial Number Theory, 1-17, 2006.
- [6] Koshy, T., *Pell and Pell Lucas Numbers with Applications*, Springer, Berlin, 2014.
- [7] Ercolano, J., *Matrix generator of Pell sequence*, Fibonacci Quarterly, 17(1), 71-77, 1979.
- [8] Gulec, H.H., Taskara, N., *On the (s,t)-Pell and (s,t)-Pell-Lucas sequences and their matrix representations*, Applied Mathematics Letters, (25), 1554-1559, 2012.
- [9] Kılıc, E., Taşçı, D., *The Linear Algebra of The Pell Matrix*, Bol. Soc. Mat. Mexicana, 3(11), 163-174, 2005.
- [10] Akyuz, Z., Halici S., *On Some Combinatorial Identities Involving the Terms of Generalized Fibonacci and Lucas Sequence*, Hacettepe Journal of Mathematics and Statistics, 42(4), 431-435, 2013.
- [11] Gökbaş, H., Köse, H., *On the (s,t)-Pell and (s,t)-Pell-Lucas Matrix sequences*, Uluslararası Medeniyet Çalışmaları Dergisi, 3(1), 160-170, 2018.
- [12] Soykan, Y., *On Generalized (r,s)-numbers*, Int. J. Adv. Appl. Math. and Mech., 8(1), 1-14, 2020.

GAZIANTEP UNIVERSITY
DEPARTMENT OF MATHEMATICS, SCIENCE FACULTY
GAZIANTEP UNIVERSITY, CAMPUS, GAZIANTEP, TURKEY
E-mail address: suygun@gantep.edu.tr